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1229 JE 50T 2= DGR TR RBURF JEHT R 2 DOHTIR T BT B S5 ot CREE LR 2836081251090001 531180011513 B o
1230 BRI = OB T BN RBUF b 2 DO T BRI 55+ O SZE N 2836081251090001 531180013010 hE &
1231 JER T = OFI TN BT JEHTT R 2 DOHTIR T BT B S5 oot CREETLR 2836081251090001 531180012930 % &
1232 LR = OFIR T BN RBUF b 2 DO T BRI 55 O SZFE 2836081251090001 531180013225 hE &
1233 JER T = OFIR TN REUT JEHTT B 2 DOHTIR T BT B R S5 ot CREERLR 2836081251090001 531180023528 B o
1234 JERTTT = OFIR T BN RBUF bR 2 DOHT T R RIS O SZE N 2836081251090001 531180011410 hE &
1235 JERTTE = OFI TN REBUT JEHTT B 2 DOHTIR T BT B S5 oot CREETLR 2836081251090001 531180012806 B o
1236 L% = DOHH T BN RBUY JEHTH 2 DOH T U R AR S5 R K 2836081251090001 531180011803 [ &
1237 JEHCTTE 2= Xl b H A RBURF JEHTTE 2 Xk b FBE R 55 Rt (ALt T % 25 DXt b 1 B AR 28 A 55 30k ) fiE R 55 14 2836093251090001 531180010526 72.00 ps
1238 AbHt 8% = X b AL B RBUT Jem i E = Xt AL PV R R 55 bl (b5 % = Xl b D BLR R AR 553 ) 1 R 25 4 2836093251090001 531180024116 69.50 R
1239 JEHCTTE 2= Xl b H A RBURF JEHTTE 2 Xk AL PV R 55 Rt (ALt T % 2= DXty b R AR 28 A i 55 30k ) fiE R 55 14 2836093251090001 531180011319 66.50 prs
1240 JERtT = X AL T REBUF BT 2 X A BUE R AR 55 0 (LT3 = Xl MBUR A 22 AR5 ) fERARSS 2836093251090001 531180010621 66.00 s
1241 JEHCTTE 2= Xl b H A RBURF JEHTTTE 2 Xk AL PV R 55 Rt (ALt T % 2= DXty b R AR 28 AR 55 30k ) fiE R 55 14 2836093251090001 531180023914 65.00 %
1242 e % = Xt AL BN RBUT BT = X A PBYE R 55 0 (T % = Xl MBUR A 22 AR5 ) fERARSS 2836093251090001 531180024117 58.50 s
1243 JEHCTTE = Xl b H A RBURF AR % 2 Xl b YT R R S5 o0 (ST 3 = Xy L D BUR AR AR S50 ) fiE R 55 14 2836093251090001 531180011028 58.50 %
1244 L% = X A BN RBUY BT = X A PBYE R AR 55 0 (T % = Xl MBUR A 22 AR5 ) fERARSS 2836093251090001 531180023501 56.50 s
1245 JEHtTTE = Xl b H A RBURF AR % = Xl b YT B IR S5 o0 (IS T3 = Xy L BB AR AR S50 ) fiE R 55 14 2836093251090001 531180010504 54.00 %
1246 e % = Xt A BN RBUY BT = X Al BYE R AR 55 0 (T % = X MBUR A 22 AR5 ) fERARSS 2836093251090001 531180011110 54.00 s
1247 JEHCTTE = Xl b H A RBURF AR = Xy b T R IR S5 o0 (B T3 = Xy b BB AR AR S50 ) fiE R 55 14 2836093251090001 531180023630 47.00 %
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1248 JEHtTTE 2= Xl b H A RBURF AR 2 X b YT R IR S5 ol (S T3 = Xy A BUR A ZE N R S50 ) fiE R 45 14 2836093251090001 531180013123 45.50 %
1249 LB % = X A BN RBUY JEH T8 2 Xk AL VB R S5 ol (B R % 2 Xt A TR A NS5k ) i R R %5 2836093251090001 531180011816 41.50 5
1250 JEHtTTE 2= Xl b H A RBURF AR 2 X A YT R R S5 0 (B T3 = X AL D BUR A AR S50 ) fiE R 55 14 2836093251090001 531180010707 37.00 %
1251 LB % = X AL BN RBUY JEH T 2 X AL VB R R SS hl (E R % = Xt A TR A AR 55k ) 7 R R %5 2836093251090001 531180011230 35.50 5
1252 JEntTTE 2= Xl b HE A RBURF AR 2 X A YT R R S5 0 (LS T3 = X b D BUR A AR S5 ) fiE R 55 14 2836093251090001 531180010305 s %
1253 L% = X A BN RBUY JEH T8 2 Xk AL VB R S5 ol (LR % = Xt A TR A AR 55k ) 7 BB %5 2836093251090001 531180010104 e 5
1254 JEHCTTE 2= Xl b HR A RBURF AR 2 X A YT R R S5 ol (LSt T3 = X AL D BUR A AR S50 ) fiE R 45 14 2836093251090001 531180013302 ek %
1255 JERtT = X L DU REBUF BT 2 X A FBUE R 55 0 (T % = X L MBUR AR %2 AR5 ) 1 RR %5 2836093251090001 531180011719 s 5
1256 JEHCHTE = Xl b H A RBURF AR 2 X b YT R IR S5 ol (S T3 = X AL D BUR A AR S5 ) fiE R 45 4 2836093251090001 531180012827 e %
1257 e % = X b A BN RBUY JEH T 2 Xk AL VYR R R SS hl (E R % = Xt A T BURA A NS5k ) 5 R R %5 B 2836093251090001 531180010608 B 5
1258 JEsCTTE 2= Xl b H A RBURF JEsTTE 2 X ] 5 R [ R R JEE AR X R R R 55 SIXE R 2839804251090001 531180012211 76.50 2
1259 JERTT = X AL U RBUF et 2 X ] % R R R BE AR XA A 55 0 SEIXE B 2839804251090001 531180011414 72.00 =
1260 JestTTE = Xt b H A RBURF JERTTE 2 X ] B 5 R [ R R AR X R R R 55 o SIXE LR 2839804251090001 531180011922 72.00 2
1261 JERtTE = X AL T RBUF ALt 2 X ] % R R BE AR X A R A 55 0 SEXE L 2839804251090001 531180012811 70.00 &
1262 JEstTTE = Xt b H A RBURF LRI 2 X ] B 5 R [ R R AR X R R R 55 o0 SIXE LR 2839804251090001 531180024304 66.50 &
1263 JERTT = X L T RBUF e 2 X ] % R B bR AR XA e Al 55 o0 S 2839804251090001 531180013005 65.50 &
1264 JEsCTTE = Xt b H A RBURF BRI 2 X ] B 5 R R R AR X R R R 55 o SIXE LR 2839804251090001 531180010828 65.00 &
1265 JERTT = X L U RBUF AT 2 X ] % R B R AR XA R A 55 S L 2839804251090001 531180012815 64.50 &
1266 JEstTTE = Xl b H A RBURF JEHTTE 2 X ] B 5 R R R AR X R R R 55 o SIXE LR 2839804251090001 531180023704 63.50 &
1267 JERtT = X L T RBUF et 2 X ] % R B R AR XA e Al 55 0 S B 2839804251090001 531180011308 63.00 &
1268 JEHtTTE = Xl b H A RBURF JERTTE 2 X ] B 5 R [ B R R AR X R R R 55 o SIXE LR 2839804251090001 531180024209 63.00 &
1269 JERtT = X L T RBUF AT 2 X ] % R B bR P AR XA J Al 55 o0 SEIXE LR 2839804251090001 531180023414 63.00 &
1270 JEHCTTE 2= Xl b H A RBURF JEHTTE 2 X ] B 5 R AR JEE AR X R R 55 o SIXE LR 2839804251090001 531180011808 62.50 i
1271 JERTT = X AL T REBUF AT 2 X ] % R B R AR XA J Al 55 o0 SEIXE R 2839804251090001 531180012918 62.00 &
1272 JER T = XL N REUT JERTTE 2 X ] 5 R [ R R JEE AR X R R R 55 SIXE LR 2839804251090001 531180010602 60.50 i
1273 JERtT = X AL T REBUF AT 2 X ] % R B R AR XA A 55 0 SEXE L 2839804251090001 531180012905 60.00 &
1274 JERtTTE = Xt AL A REUT JERTTE 2 X ] B 5 R [ B R JEE AR XA R R 55 SRIXE LR 2839804251090001 531180010623 59.00 m
1275 JERtT = X L U RBUF et 2 X ] % R B bR R AR XA J Al 55 0 SEIXE LR 2839804251090001 531180011619 59.00 &
1276 JEHCTTE = Xl b H A RBURF JERTTE 2 X ] B 5 R R bR JEE AR XA R 55 SIXE LR 2839804251090001 531180010819 59.00 i
1277 JERtTE = X AL U RBUF JERTTT 2 X ] % R B R AR XA J Al 55 0 SEIXE L 2839804251090001 531180010619 58.00 &
1278 JEHtTTE = Xl b H A RBURF JEHTTE 2 X ] B 5 R B R JEE AR XA SR R 55 SR IXE LR 2839804251090001 531180024415 58.00 i
1279 JERTH = X L U REBUF e 2 X ] % R B R AR XA J Al 55 0 SEXE LR 2839804251090001 531180011430 58.00 &
1280 JEHCTTE = Xl b H A RBURF JEHTTE 2 X ] 5 R B R R AR XA SR R 55 SIXE LR 2839804251090001 531180011516 58.00 &
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1281 JEHtTTE 2= Xl b H A RBURF JEHtTTE 2 XA B 5 R L BR AR AR XA R R 55 o0 SIXE R 2839804251090001 531180010716 57.00 &
1282 JERtH = X L DU REBUF BT 2 X ] % R [ B bR R AR XA R A 55 o SEIXCE LR 2839804251090001 531180012630 56.00 #H
1283 JEHtTTE 2= Xl b H A RBURF JEHCTTE 2= X A B & 5 R L [ BR AR AR X R R R %5 o0 SIXE L 2839804251090001 531180012707 56.00 &
1284 JERtT = X L U REBUF et 2 X ] % R B bR R AR XA J Al 55 oo SEIXCE B 2839804251090001 531180010509 56.00 #H
1285 JEntTTE 2= Xl b HE A RBURF JEntTTE 2= X A B 5 R [ PR R AR X R R R 55 o0 SEIXE LR 2839804251090001 531180012016 54.50 &
1286 JERtTTE = X L U RBUF AT 2 X ] % R B bR AR XA J A 55 oo SEIXE L 2839804251090001 531180024210 54.00 #H
1287 JEHCTTE 2= Xl b HR A RBURF JEHCTTE 2 XA B 52 R L [ BR AR R AR X R R R 55 o0 SIXE LR 2839804251090001 531180012412 54.00 &
1288 JERtT = X L DU REBUF AT 2 X ] % R B R AR XA S A 55 o0 FXE 2839804251090001 531180024123 53.00 &=
1289 JEHCHTE = Xl b H A RBURF et 2 X A B 2 R [ PR R LR X R R R %5 o0 SR IXCE R 2839804251090001 531180011406 53.00 &
1290 JERTT = X L U RBUF AT 2 X ] % R R AR XA e Al 55 o0 SEIXE R 2839804251090001 531180010112 52.50 &=
1291 JEsCTTE 2= Xl b H A RBURF et 2= X A B & 22 R [ PR R BB XA R R %5 o0 SIXE R 2839804251090001 531180012212 52.00 &
1292 JERTT = X AL U RBUF et 2 X ] % R R R BE AR XA A 55 0 SEIXE B 2839804251090001 531180011417 51.00 &
1293 JestTTE = Xt b H A RBURF et 2= XA B & 2 R L [ PR R BB XA R R %5 o0 SIXE LR 2839804251090001 531180024412 47.50 &
1294 JERtTE = X AL T RBUF ALt 2 X ] % R R BE AR X A R A 55 0 SEXE L 2839804251090001 531180010827 47.00 &
1295 JEstTTE = Xt b H A RBURF JesCTTE 2 X A B 2 R L [ PR R BB XA R R 5 o0 SIXE LR 2839804251090001 531180012320 46.50 &
1296 JERTT = X L T RBUF e 2 X ] % R B bR AR XA e Al 55 o0 S 2839804251090001 531180024303 46.50 &
1297 JEsCTTE = Xt b H A RBURF JEHCTTE 2 X A B 5 R L [ BR AR R LR X R R 5 o0 SIXE LR 2839804251090001 531180023929 46.50 &
1298 JERTT = X L U RBUF AT 2 X ] % R B R AR XA R A 55 S L 2839804251090001 531180011921 46.00 &
1299 JEstTTE = Xl b H A RBURF JEHCTTE 2 X A B 2 3R L PR AR R AR XA R 55 o SIXE LR 2839804251090001 531180011424 44.50 &
1300 JERtT = X L T RBUF et 2 X ] % R B R AR XA e Al 55 0 S B 2839804251090001 531180011730 44.00 &
1301 JEHtTTE = Xl b H A RBURF JEHCTTE 2 X A B 2 R L PR AR R AR XA R 55 o0 SIXE LR 2839804251090001 531180011329 44.00 &
1302 JERtT = X L T RBUF AT 2 X ] % R B bR P AR XA J Al 55 o0 SEIXE LR 2839804251090001 531180012318 43.50 &
1303 JEHCTTE 2= Xl b H A RBURF JeHCTTE 2 XA B 52 R L BR AR AR XA R R 55 o0 SIXE LR 2839804251090001 531180013228 43.50 &
1304 JERTT = X AL T REBUF AT 2 X ] % R B R AR XA J Al 55 o0 SEIXE R 2839804251090001 531180010802 43.00 &
1305 JEHCTTE 2= Xl b H A RBURF st 2 XA B 5 R L [ PR AR R LR X R R R 5 o0 SIXE LR 2839804251090001 531180011017 41.50 &
1306 JERtT = X AL T REBUF AT 2 X ] % R B R AR XA A 55 0 SEXE L 2839804251090001 531180023729 41.50 &
1307 JEHCTTE 2= Xl b H A RBURF JEHCTT 2= XA B 52 3R L [ BR AR LB XA TR R 55 o0 SRIXE LR 2839804251090001 531180012010 38.00 &
1308 e % = Xt AL BN RBUT et 2 X ] % R B bR R AR XA J Al 55 0 SEIXE LR 2839804251090001 531180023607 38.00 &
1309 JEHCTTE = Xl b H A RBURF JEHCTTE 2 X A B 5 R [ BR AR A X R TR R 5 o0 SIXE LR 2839804251090001 531180012422 35.00 &
1310 L% = X A BN RBUY JERTTT 2 X ] % R B R AR XA J Al 55 0 SEIXE L 2839804251090001 531180012704 hE &
1311 JEHtTTE = Xl b H A RBURF e st 2 XA B 52 R L BR AR LB XA SR e 55 o0 SR IXE LR 2839804251090001 531180024322 Bt &
1312 e % = Xt A BN RBUY e 2 X ] % R B R AR XA J Al 55 0 SEXE LR 2839804251090001 531180010914 hE &
1313 JEHCTTE = Xl b H A RBURF JEHCTTE 2= XA B 52 3R L BR AR B X R SR R 55 o0 SIXE LR 2839804251090001 531180024125 Bt &
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1314 JEHtTTE 2= Xl b H A RBURF JEs T 2 X ] B 5 R [ R R JEE AR X R R 55 o SIXE R 2839804251090001 531180011125 i &
1315 JERtH = X L DU REBUF BT 2 X ] % R [ B bR R AR XA R A 55 o SEIXCE LR 2839804251090001 531180011530 e #H
1316 JEHtTTE 2= Xl b H A RBURF JEs T 2 X ] B 5 R [ R R JEE AR X R R R 55 o SIXE L 2839804251090001 531180010323 i &
1317 JERtT = X L U REBUF et 2 X ] % R B bR R AR XA J Al 55 oo SEIXCE B 2839804251090001 531180024119 hE #H
1318 JEntTTE 2= Xl b HE A RBURF JERTTE 2 X ] B 5 R [ R R JEE AR X R R R 55 o SEIXE LR 2839804251090001 531180010717 i &
1319 JERtTTE = X L U RBUF AT 2 X ] % R B bR AR XA J A 55 oo SEIXE L 2839804251090001 531180010201 e #H
1320 JEHCTTE 2= Xl b HR A RBURF JER T 2 X ] B 5 R [ R R JEE AR X R R R 55 o S X B 2839804251090002 531180012126 67.50 P
1321 JERtT = X L DU REBUF AT 2 X ] % R B R AR XA S A 55 o0 SR R 2839804251090002 531180011118 67.00 =
1322 JEstTTE = X e D R JEH T 2 X ] B 5 R R R JEE AR X R R R 55 o FEDXCHR 2839804251090002 531180010706 66.50 P
1323 JERTT = X L U RBUF AT 2 X ] % R R AR XA e Al 55 o0 SR R 2839804251090002 531180011908 66.50 =
1324 JEsCTTE 2= Xl b H A RBURF JEsTTE 2 X ] 5 R [ R R JEE AR X R R R 55 S AL B 2839804251090002 531180012027 64.50 &
1325 JERTT = X AL U RBUF et 2 X ] % R R R BE AR XA A 55 0 SR R 2839804251090002 531180023821 64.50 &
1326 JestTTE = Xt b H A RBURF JERTTE 2 X ] B 5 R [ R R AR X R R R 55 o S AL B 2839804251090002 531180010825 64.00 &
1327 JERtTE = X AL T RBUF ALt 2 X ] % R R BE AR X A R A 55 0 SR 2839804251090002 531180012005 63.00 &
1328 JEstTTE = Xt b H A RBURF LRI 2 X ] B 5 R [ R R AR X R R R 55 o0 S AL B 2839804251090002 531180023921 63.00 &
1329 JERTT = X L T RBUF e 2 X ] % R B bR AR XA e Al 55 o0 SR 2839804251090002 531180011930 62.00 &
1330 JEsCTTE = Xt b H A RBURF BRI 2 X ] B 5 R R R AR X R R R 55 o S AL B 2839804251090002 531180011826 61.50 &
1331 JERTT = X L U RBUF AT 2 X ] % R B R AR XA R A 55 SR R 2839804251090002 531180010419 61.00 &
1332 JEstTTE = Xl b H A RBURF JEHTTE 2 X ] B 5 R R R AR X R R R 55 o S AL B 2839804251090002 531180011804 60.00 &
1333 JERtT = X L T RBUF et 2 X ] % R B R AR XA e Al 55 0 SR 2839804251090002 531180024409 59.50 &
1334 JEHtTTE = Xl b H A RBURF JERTTE 2 X ] B 5 R [ B R R AR X R R R 55 o SR AL B 2839804251090002 531180010622 58.50 &
1335 JERtT = X L T RBUF AT 2 X ] % R B bR P AR XA J Al 55 o0 SR R 2839804251090002 531180023402 52.50 &
1336 JEHCTTE 2= Xl b H A RBURF JEHTTE 2 X ] B 5 R AR JEE AR X R R 55 o SR B 2839804251090002 531180012319 46.00 &
1337 JERTT = X AL T REBUF AT 2 X ] % R B R AR XA J Al 55 o0 SR 2839804251090002 531180023627 45.50 &
1338 JEHCTTE 2= Xl b H A RBURF JERTTE 2 X ] 5 R [ R R JEE AR X R R R 55 S AL B 2839804251090002 531180010511 45.00 &
1339 JERtT = X AL T REBUF AT 2 X ] % R B R AR XA A 55 0 SR 2839804251090002 531180011408 42.50 &
1340 JEHCTTE 2= Xl b H A RBURF JERTTE 2 X ] B 5 R [ B R JEE AR XA R R 55 SR AL B 2839804251090002 531180012622 40.50 &
1341 e % = Xt AL BN RBUT et 2 X ] % R B bR R AR XA J Al 55 0 SR 2839804251090002 531180024306 E &
1342 JEHCTTE = Xl b H A RBURF JERTTE 2 X ] B 5 R R bR JEE AR XA R 55 S AL B 2839804251090002 531180012511 Bt &
1343 LR 2 X IR S AU RBUF LT = KRS AU SRRy hl A I B 2836137251090001 531180024025 75.50 =
1344 LT = KRS N BT AR = KRS FE A IR R ehol A S T 2836137251090001 531180010829 66.00 2
1345 LR = XIR S A RBUF LT = KRS AU S IRy hl AT B 2836137251090001 531180012304 61.00 =
1346 L5 # 2= KR 5 AR RBURF AT = KRS A IR R ehol A S T 2836137251090001 531180012620 57.50 i
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1347 L5 2 KR 5 AR RBURF e = R S SRR R b AT B 2836137251090001 EHLB 531180011727 55.50 &
1348 JERTTT = X IR S AU RBUF JEHTH 2 R AT RESh L (L% = XRE S EBUERRE S 0 ) i RS 3N i 2836151251090001 [=gii] 531180011129 74.00 2
1349 L5 = XRS5 AR RBURF BT 2 R 5 A R B hol (et 2 R S FE B RT3 b0 ) T B 3 B 2836151251090001 (g 531180023801 74.00 2
1350 LR = KRS AN RBUF JEHTH 2 XGRS AT RESh L (b % = KRS EBUERRE S 0 ) i RS 3N i 2836151251090001 [Eguis| 531180010225 70.50 &
1351 JEHCTT# 2= XIR 5 AR RBURF BT 2 R 5 T R B hol (bt 2 R S FE B RT3 b ) T B 3 B 2836151251090001 L 531180012510 68.50 %
1352 JERTT = X IR S AU RBUF JEHTH 2 XGRS AT R sh L (L% = KRS EBUERRE S H0 ) i RS 3 i 2836151251090001 (EguiE] 531180023502 68.50 5
1353 JEHCTT# 2= KR 5 AR RBURF BT 2 R A A R B hol (b at e 2= X S FE B BT 3 b0 ) T B 3 5 2836151251090001 (g 531180011302 68.50 %5
1354 JERTTI = X IR S AN RBUF JEHTH 2 XGRS AT REsh L (L% = XE S EBUERRE S 0 ) i RS 3h i 2836151251090001 (EgLs| 531180010416 67.00 5
1355 JEHCTTE 2= KR 5 AR RBURF BT 2 R A A R B hol (bt 2= R S FE B RT3 b0 ) T RS 3) 2836151251090001 L 531180012116 66.00 %5
1356 LR = KRS AN RBUF JEH T 2 XGRS AT R sh o (L% = XE S EBUERRE S 0 ) i RSB i 2836151251090001 B 531180011528 65.00 5
1357 JEHCTT# 2 KR 5 AR RBURF BT 2 R A T R B hol (Rt 2 R S FE B RER 3 b0 ) T RS 3) 2836151251090001 L 531180011710 65.00 %5
1358 LR 2 X IR S AN RBUF JEHTTH 2 XGRS AT R sh L (L% = XES EBUERRE S 10 ) i RS 3h i 2836151251090001 B 531180010826 64.00 5
1359 LB T % = R S RBUT JEHT 8 2 RS AT RGBS b (L % = RS B RE 2 ) T RE BN i 2836151251090001 [Egdits] 531180011630 64.00 5
1360 LRI = X IR S AN RBUF JEHTH 2 XGRS AT R Sh o (L% = XE S EBUERRE S 0 ) i RS 3h i 2836151251090001 (EgiE| 531180023517 60.50 5
1361 LB % = IR S RBUT JEHT 8 2 RS AT R G300 (L % = RS R BE RS Z ) T RE B i 2836151251090001 [Egdits] 531180012720 59.50 5
1362 L% = R S RN RBUY JEHC T 2 XGRS AT R sh ol (L% = XE S EBUERRE S H0 ) i RSB i 2836151251090001 (EguE| 531180011123 59.50 5
1363 JEHCTT 2= KR 5 A RBURF BT = R T R B hol (Rt 2 X S RS RER 3 b0 ) T RS 3) 2836151251090001 L 531180010203 59.50 %
1364 et 2 KRS RN R EUN AR SR A B IER PO (LS % S X R A E B BEEE P L ) TGS 2836151251090001 i 531180023611 57.50 %
1365 JEHCTHT# 2 KR 5 AR RBURF JEATTT % 2 XA S FEAAT RS 3 hol (LAt = XIR  FE S RHE B h ) T RS 3) 2836151251090001 (g 531180011802 57.00 %
1366 et 2 R RSN R EUN LRt SRS RIER PO (LS % X R A E B EE R L ) TGS 2836151251090001 i 531180012817 56.50 %
1367 JEHCTT 2= XIR 5 AR RBURF JERTTT % 2 XA S FEAAT RS 3l rhol (BT o IR G FE S RHG B h ) T RS 3) 2836151251090001 L 531180011924 56.50 %
1368 Jesi i 2 KRS N R EU AR KR A B RIER PO (LS % S X R A E B EEE P L ) TGS 2836151251090001 g 531180012615 56.00 %
1369 JEHCTHT# = KR 5 AR RBURF JERTTT % = XA S FEAAT RS 3l hol (BT o XIR  FE S RHE B h ) T RE3) 2836151251090001 EHL 531180013109 56.00 %
1370 Jesi e 2 KRS RO REUR ARt SRS RIER PO (LS S S X R A E B EER P L ) TR E S 2836151251090001 g 531180012513 55.00 %
1371 JEHCTT# 2= KR 5 AR RBURF JEHTTT % = XA S FEAAT RS 3l bl (BT 5 XIR S FE S RHE B h ) T RIS 3) 2836151251090001 L 531180010611 55.00 %
1372 Jesi e 2 KRS RN R EUR JLs i KRS IER PO (LS % S X R A E B BEEE P L ) TGS 2836151251090001 g 531180011724 55.00 %
1373 JEHCTHT 2= IR 5 AR RBURF JEHTTT % = XA S FE BT RS Bl hol (BT = X IR S FE BUERRE B h ) T RIS 3) 2836151251090001 L 531180023710 55.00 %
1374 et 2 KRS RN R EUR Jbs i E KRS SN ER PO (LS % S X R E B REER P L ) TGS 2836151251090001 g 531180010322 55.00 %
1375 JEHCTT 2= KR 5 AR RBURF BT 2 R A R B ho0 (e mtTl e = X S FE B BT 3 b0 ) T RIS 3) 2836151251090001 L 531180010326 54.50 %
1376 A6 % 2 IR S N R BURF JEa % 2 IR A BT R IE B ol (b5 % = KRS FE BT RS 2 ol ) 7 RYE B K 2836151251090001 Y 531180024214 54.50 %5
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1898 e = X DA R R e % = X P R B AXRE BT 2836278252120001 LH 532180025129 64.50 7
1899 el = X AR JeaTi % = X P EE R ARGB 2836278252120001 LH 532180025030 62.50 2
1900 Jethis s X DAERRER 2 Aent i % = X B b AT B 2836278252120001 LA 532180025017 60.25 =
1901 el = X AR JeHT % = X P EE R ARGB 2836278252120001 LH 532180025504 58.00 i
1902 Jemtiies X LA AR R et w X P EER ANcarars 2836278252120001 L 532180025506 57.00 i
1903 e = X AR JeHTi % = X P EE b NGB 2836278252120001 LH 532180026403 54.50 i
1904 Jbmtiies = X LA R R et = X EER ANcarars 2836278252120001 L 532180026322 53.25 7
1905 e = X AR b JeaTiE = X P EE R ARGB 2836278252120001 LH 532180026209 52.50 i
1906 bR his s X DAERRER 2 bnt i % = X b AT B 2836278252120001 LA 532180025111 51.75 =
1907 b8 = X DA R JeHT % = X P EE R ARG BT LR 2836278252120001 LH 532180025610 % i
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1908 JeuiTis = X DA REE A2 et = X B BE ARG BT LR 2836278252120001 LH 532180025511 e w
1909 s s X DAERER RS LT 2 X R BE AR BB 2836278252120001 LH 532180026428 B &
1910 e = X DA R b2 et = X B BE 4 %% 4 2836278252120002 LH 532180025127 79.25 2
1911 Jbmiiies = X LA AR R et = X R EER W45 4 2836278252120002 L 532180025617 70.00 2
1912 JEmT S X AR RS Jb i = X P R B B 445 14 2836278252120002 L 532180026427 66.25 £
1913 Jemiiies = X LA AR R et = X R EER W45 2836278252120002 L 532180026319 65.00 =
1914 JeHT % = X DA REE A2 JeHTT % = X P b (EYSS7 &y S & il 2836278252120003 LH 532180026126 76.00 =
1915 s s X DAERER RS LT 25 X R BE B R RSN | 2836278252120003 L 532180025416 71.50 =
1916 Jent i % = X DA R b o JeHT % = X P b (BN S8y S0 & 2 il 2836278252120003 LH 532180024517 67.00 =
1917 s E X DAERER S AL 2 X A R BE R RSN | 2836278252120003 LH 532180024702 66.50 =
1918 et = X AR b JeHiT i = X P b FER 7 RR&gET 2836278252120003 LH 532180025724 66.00 i
1919 s EX DAERER RS LT 25 X AR BE RSN | 2836278252120003 LH 532180025311 63.25 =
1920 el = X AR JeHT % = X P b (BN S8y S0 & 2 il 2836278252120003 LH 532180025613 62.75 i
1921 e s E X DAERER RS LT 25 X R BE HRRE RSN | 2836278252120003 LH 532180024719 62.75 =
1922 el = X AR JeHT % = X P EE b (EYSS7Ey S0 & 2 Al 2836278252120003 LH 532180026114 59.00 i
1923 Jemiiies = X LA AR R 2 LT 2 X R BE HRRE RSN | 2836278252120003 LH 532180025003 59.00 =
1924 e = X AR JeHT % = X P EEE b (EYSS7Ey S0 & 2 Al 2836278252120003 LH 532180025216 57.75 i
1925 e s X DAERREER 2 bnt i % = X B b (E¥-Srey S e 2 Sl 2836278252120003 LA 532180025119 52.75 e
1926 e = X AR b JeHT % = X P EE b ER A RR& %Y K 2836278252120003 LH 532180026414 e i
1927 JE5Ti % & X A RZ B e % = X P R B ANF R 2836278252120004 LH 532180025727 80.75 7
1928 e = X AR b JeHT i = X P EE R PN 2836278252120004 LHA 532180025101 80.50 =
1929 JERTi % & X A RZ B e % = X R B ANF R 2836278252120004 LH 532180025629 80.00 7
1930 e = X AR JeaiTi s = X P EE R PN 2836278252120004 LH 532180024527 79.75 i
1931 JE5TH % & X A RZ e % = X P R B ANF R 2836278252120004 LH 532180026402 79.00 &
1932 el = X AR JeaTi % = X P EE R PN 2836278252120004 LH 532180025414 75.25 i
1933 JERTHi % & X A RZ e % = X R B ANF R 2836278252120004 LH 532180026203 72.50 &
1934 el = X AR JeHT % = X P EE R PN 2836278252120004 LH 532180026122 70.50 i
1935 JEnTi % & X A RZ e % = X P R B ANF R 2836278252120004 LH 532180025228 69.50 &
1936 e = X AR JeHTi % = X P EE b PN 2836278252120004 LH 532180026130 69.50 i
1937 JE5THi % & X P RZ e % = X P R B ANF R 2836278252120004 LH 532180024713 68.00 &
1938 e = X AR b JeaTiE = X P EE R PN 2836278252120004 LH 532180025102 65.50 i
1939 JE5THi % & X P RZ B e % = X PR B ANF R 2836278252120004 LH 532180025624 63.50 &
1940 b8 = X DA R JeHT % = X P EE R PN 2836278252120004 LH 532180025019 62.25 i
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1941 bR = X DA SR 2 b T = X R BB NE 2836278252120004 LRk 532180026423 61.00 5

1942 JbRias = X PA @RS b5 2 X R BB ANFHX 2836278252120004 L 532180024916 60.50 5

1943 bR = X DA SR 2 bR = X EERE NE 2836278252120004 LRk 532180025803 60.50 i

1944 JbRias o X PA @ ER S b5 2 X R BB ANFHX 2836278252120004 L 532180025123 59.50 5

1945 bR = X AR 2 bR = X EERE PN 2836278252120004 LRk 532180025823 55.25 i

1946 JbRiias = X PA R4 b5 2 X R BB ANFHX 2836278252120004 L 532180025820 50.75 5

1947 bR = X AR 2 bR = X EERE N 2836278252120004 LRk 532180025914 46.25 5

1948 bR o X PA R4 b s = X R BB ANFHX 2836278252120004 L 532180024513 38.00 5

1949 bR = X DA RS 2 bR = X EERE A gk 2836278252120004 LRk 532180025520 i i

1950 RN E =X DAERESR 2 RN = X EER NF 2836278252120004 L 532180025513 e i

1951 bR = X AR 2 bR T = X EE R N | 2836278252120004 LRk 532180026330 % 5

1952 b X PAMERRS RN = X EER NF 2836278252120004 LH 532180025521 e i
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